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MTEFRZ A Ri. Ro Z7RIREXSHMBASFZ2ERE, MARBHMAER , AREAE
ERNERER V/Vi 5 : (A)98 (B)115 (C)144 (D)200,

[92 MK —=F]
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E—H=REBHARER HEBEZDAA : F—MA,=50 , BZMA,=40 , E=H&
A=20 , BEE—BNBAERBYV, R 10uV, MIE=HR@HEBYV /M ? (A)400V (B)40V
(C)4V (D)0.4V (E)0.04V,
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ERBEAXB2EREETIERATIIMERZERE? ASBRMEBRES BXREER
CEZRNEESES DERBHNh. .
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[88 M EH]
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E Tl == E
5 =
E ) R, IL R, E
= lo— @ — . =1
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Vi = + 15V

THZMBABREERNP , RBEESFENARTE? (A) EHEERE B) EBHRR
& (C) ERMBE (D) BEERE [ HmHE—H]

BH—HMAEREREE Av A 100, EREHEAI A 10, IHDEEI Ap(dB) £ZD?
(A) 10 dB (B) 30 dB (C) 60 dB (D) 1000 dB  [94 & —=]
THZRARBBEERND HACRERY. BENRYIRGHNRMTE? (A) EHEERR
& (B) #BER/E (C) ERMWE D) EERES [HHmE-—HHEE]

EHM—HRAEEAS LmVERKRAKE LV, AIHEREZ Av (dB)AZ 4 ? (A)10dB (B) 30
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1.(A) 2.(A) 3.(B) 4.(A) 5() 6.(C) 7.(D) 8.(B) 9.(D) 10.(C)
11. (D) 12.(D) 13.(B) 14.(B) 15.(A) 16.(D) 17.(C) 18.(D) 19.(C) 20.(C)
21.(C) 22.(A) 23.(B) 24.(B) 25.(D) 26.(D) 27.(B) 28.(D) 29.(A) 30.(C)
31.(B) 32.(C) 33.(D) 34 (A) 35.(C) 36.(B) 37.(A) 38.(B) 39.(B) 40.(A)
41. (D) 42.(B) 43.(B) 44.(C) 45.(D) 46.(A)

1. A, =3dB+37dB =40dB =100 i V,, =24V x—20x100 = —4mV
2 10.7V - 0.7V
B = ——————————— = 0.05mA
100K +100K
10.7V - 0.7V — (99 x 0.05mA)x 1K
lg, = = 0.101mA
1K + 49K
3 A; = KO %10 x 40 x 20 x 4Q =115.2
10KQ +90KQ 10 + 40 1Q +4Q
4. 30°
A.(dB)=10log 10902 =10dB
1K
t )
P :£:31.25mw
400
6. 0.707 x100 = 70.7
7. (1) A=A, xA,xA, ;=50x40x20=4x10" 15
(2) V.=V, xA,=10uV x4x10* = 0.4V
8. =50x80x 250=10° 1
5 (1) A;=50x80x25 =
= (2) dB;=20log A,;=120dB =
% 9 (1) dB, =dB, +dB, =20dB + 40dB = 60dB %
% — A, =1000 4% %
% (2) Vo,=A,; xV,=1000 & x1 1V =1mV %
= 10. 20log10‘ =80dB 5
5 1A = -40x-50x-30x 20 ~20x10 = 2.4x10° 2
5 12 [1 5
% f,, = f, x\22 -1 %
= RN o — —[ : } : =
% L - 27r><1re><C2 fore 1ZI.OO,u %
% 2) fL(?ﬁiﬁ)j = 2ar, xC', _|:27Z'>< rjxlOy %
5 (3) L (EA)=10x T, (FA) = f (B F)BASBET, =
£ 14 BRERASBZEASEITERHAREEDS. EREARBHERRE =
% D BEE (W) 2WE =B R =B %5 B 10g 1t =3B %
1
16. i_ 10mw _
% 10log B =10log 100mW 10dB %
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26.
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30.
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BEFE—RYIR
= R=1kQ

BB - \\i_ I, xR, 1000_(@))(10“2

=

I xR 1 1 i
NdB = 10- Iog&:ZO-Iog\QHO-Iogﬁ
RL l RZ

100kQ

=20-10g100+10-log T =40dB + 40dB = 80dB

1Wx100=100W
10l0og 1000 = 30dB

10w

10 log =20dB
100 mw

20 log v 60dB
ImV

60
1020 =1000

%x 20W =10W

¥IhWXRE K REEBRERIRBATHEERZ 0.707 135
—jX¢ 1

V,=V; x =V, x
1kQ — jX

fH

B HE, X BASHB2BEoy Sy, , FHEER.
oRC R

(1) A/:1+ja)RC :iﬂq =V B EMEFE R SBEIERK.
joC
93 %
joRC 1 1 _ -
@) A=—T = — — EEARR, 5
1+joRC NN =
®RC f =
— 0 B AR B 40 2
AR EIRKSE %
(1)40dB =100 f&=R: R, =1 : 100 %
@) f = L 1000Hz= 1 = L —=C =0.159 uF =
2rRC 6.28x R, xC 6.28x1kxC %
EREAARA- M - TN - gV RV EERASS BAAR -
- jTL -1 %
5
100 12+(@j =100= f = 10Hz %
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